LOMBARDINoup: 10LD

A KOHLER. COMPARNgine: 10LD 400-2 Drawing: G

COOLING SYSTEM

POS. |CODE DESCRIPTION Qty
1 $790.039 screw M 6 X 12 4
2 (————— » shroud 0
5 1770.002 bolt M 8 X 1,25 X 16 1
6 [565.007 washer diam. 8 1
7 4776.090 gasket 1
8 K= » denoised airtight 0
9 J555.004 washer diam. 6 2
10 1760.003 bolt M 6 X 1 X 12 2
11 B8527.018 spacer 1
12 5066.079 denoised airtight 1
13 790.039 screw M 6 X 12 7
14 &————- » deflector 0
15 9731.092 screw M 8 X 14 1
16 B3203.050 selflocking nut M 6 1
17 1760.094 bolt M 6 X 1 X 100 1
18 &————-— » pulley cover - no longer avail. 0
19 6927.056 guard 1
20 790.039 screw M 6 X 12 7
21 5096.038 flywheel guard 1

printed by LOMBARDINI: 11/08/2010 - 1




Engine: 10LD 400-2 Drawing: G

printed by LOMBARDINI: 11/08/2010



